SR W(ev) +jetsCR Z(¢l) + yCR W(lv) +yCR v +jetsCR
W +jets 250 + 17 10500 £ 100 — — 180 £ 37
W(lv) + v 98 + 11 240 + 36 — 190 £ 18 76 + 8
Z+ 98 + 18 6.8+ 15 25+ 4 1.7+ 04 46 + 8
v +jets 230 £+ 22 124+ 4 — 95+23 1400 + 58
Mism. 7y 34 £ 15 — — — —
Z +jets 41 +4 100 £ 10 — 6.3+ 0.6 26 £3
Nonprompt 201 1.1+0.1 1.2+0.1 44+03 62+ 3
Top quark 18 £5 16 +4 03=£0.1 30+7 22+5
\'A% 6.6+ 1.0 200+ 9 0.3+03 44+09 57+05
VvV 31+05 7.6 +1.0 — 81+1.1 3.6 £05
Total background 800 + 25 11100 + 100 27 £4 250 + 16 1800 + 43
Data 801 11091 27 253 1830
qqHi25(7rD) 52 + 8.0 1.8+0.3 — 47 +04 —



